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Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the guestions

1. Answer any ten of the following as directed :
| 1x10=10

AT wor R e webr bl ford -
(a) Was Thales a hylicist?
(¥o> & HHAM ifeecH ?

(b) What is the fundamental stuff of the world
according to Anaximenes?

GAIAMETIADA TS WISy o1 1 3 2
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(c) Anaximander was an lonian / Eleatic
philosopher.
( Choose the correct answer )

efRTIeT «ﬂwwﬁ\sﬁm | aficafe v
et |
V(Qﬁmaﬁ%ﬁ@)

(d) Who first made a dlstmctlon between sense
and reason? ‘

CIRAIART M @ o o /ol o
fRefy #fifee 2

(e) Who viewed that ‘All is flux’?

'mwmww
ARTER’ 2

(f) Who introduced the ‘theory of particles™?
T FfAcE SR YT o I 2

(g) Who is the author of the book, On Nature?
On Nature J8IY (AIF (FF ?

(h) ‘Being is by nothmg more real than nothing.”
Who made this statement‘7

“wwmﬁmﬁ?mmmn” q‘?(%&scm
IA?

22A/1184. ( Continued )



(3)

() Who made a modification of atomism of
Democritus? '
o TR (SARFOIR IO RIS T
@ o

(i) According to Socrates, Knowledge can only
be produced by reason’. Is it true?
e o O @9 AT R T w1
TR T ?

(k) What method was adopted by Socrates in
Philosophical system?
ez e SErAR IR R Rl

- R ?

(] What is the main content of Plato’s dialogue

named ‘Theaetetus’?

(8BR ‘Theaetetus™ I AT ﬁﬂm
&2
(m) Name one famous student of Plato.
(IO Ew TS T W
(n) Where was Aristotle born?
SRE°5R w1 370 (e ?
. (o) Aristotle divided cause into two / three / four.

( Choose the correct answer )

aﬁiﬁawwiﬁ/%ﬁﬁ/ﬂﬁﬁw@w'
FRER |
( wa Teach! AR fered )
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2. Answer any five of the following questions.: 2x5=10

RS opeaRs R e “feor Tee firn

(a) Wrtic two- Philosophical propositions of
Thales.
cess w359 o1 foran o

(b) Name two philosophers of Eleatic school.
7o Al Sreemm wrdfe = o |

(c) Mention two ethical restrictions of
Pythagoreans.
FRATAMRAFTRFR 101 e qa-Fogy S
]I

(d) What is the meaning of Becoming’ in the
Philosophy of Heraclitus?
AR wiTS ARTT'T ol & 2

(e) What is atom?
o ¥ 2

(f) Plato rejected two false theories of
knowledge. What are they?

WA (TS (O O IS TR SR
ez | oR PR 2
(g) Write two characteristics of pre-Socratic -
Philosophy.
| ARSCEHGF TR 01 ST fora
(h) Name two books of Afistotle.
fR8°Ber 3 2T A fore |
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3. Write short notes on any four of the following :
. 5x4=20

ﬁaﬁrﬁwﬁmmﬁﬁﬁﬁmqm&w

(a) Role of Ionic School in pre-Socratic
Philosophy

AT TS SHRSAT = Sl
(b) Ten pairs of opposites of the Pythagoreans
SfRRCSNRAFPIFER >ob1 Ree e e
(c) Harmony of opposite

Ro@e 7S 1 R SR/

(d) Socratic virtue

5o B

(e) Characteristics of ideas accor’ding to Plato
(BT IR (3P

(f) Orphic religion
vl of

(g) Aristotle’s view on causation

TR oI RO ST

(h) Philosophy of Anaximenes

P e ata ksl
20A/1184
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4. Answer the following questions (any four) @
ARl PRz Set fiur (R o sib) -

(a) Briefly discuss the contribution of Thales in
the history of Greek Philosophy. 10

Sie wiE FITS (@R T TE TF
e 4 |

(b) Explain the Pythagorean theory of numbers. 10
ARRACRIFTFER FRI GBI 1 |

(c) Critically explain and examine the problem of
changes in the Philosophy of Heraclitus. 10

RIHT e ARTER TPIOR  RoReS
[

(d) “All things of the world are made of atoms.”
Discuss Democritus’ view by following this
statement. o 10

“mered STRCAl IR NI T[S 1 %
REG! PR PN COFHOI TOGT SO
el

(e) Explain the concept of Being’ in the
Philosophy of Parmenides. - 10

CIAIRERY ST@I' YIRICOT TR 37 |
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(f) Critically examine Protagoras’ theory of
knowledge. '

" BISIET WOG 1P TSIAOR TACAGAIF
0 3 |

(g) Explain Socrates’ view on knowledge.

SCaibRR WA =AY TSIMCH! I 0 |

(h) How does Plato refute that Knowledge is
Perception’? Discuss with examples.
CHTBIET “ooTRE W FANR R A AR
TSI (T ST 39 |

(i) Explain and examine the concept of justice
according to Plato.

(UBR U’ (RNOR A I
S[RCEHT |

() Discuss Aristotle’s view on Form and Matter.

WWW(W@?WWWW
A F49 |

%* %k

10

10

10

10
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Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer any ten of the following as directed :
. 1x10=10
o oor R @1 "R Tey o

(a) Are ‘symbolic logic’ and ‘formal logic’ same?-

‘ReRe HRER U HRRTe SR’
G ?

(b) Symbolic logic uses verbal / non-verbal /
both verbal and non-verbal symbols.
( Choose the right answer )

BT SRErA MRe / SRE / Re
o PR Toq AT AT AT A |
( % Teh1 AR Sferean )
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(c) Who is the author of the book, The
Mathematical Analysis of Logic?

The Mathematical Analysis of Logic 2R
CERF (P ?

(d) Who is credited to have used the word
‘symbolic logic’ for the first time?

‘ADTRE RS’ 71 A AR FFog I
=

(e) What is unary connective?
¢ BAMAREE e 7

(f) “If it does not rain, then we will go for
shopping.”” Symbolize this proposition.

“af 3 ffic coER'E Wiy @R FRaEE
Y "’ IGACH AORTAF SRS T 31 |

(g) *“‘A conjunctive function is true if at least one
conjunct is true.” Is this statement true?

bl A T el W IRy O wesle
TF: BT KT NS T 1°° AR Iole 2

(h) Name the logician who introduced the
concept of stroke function,

g:wwm%@mwmﬁmam
I .
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(3)

(i) Shorter truth table is allied to propositional /

predicate logic. ,

( Choose the right answer )

vy Tl Sl oA SHRERY [/ RUATTe
R AR |

( o Tethl AR Bered )

(i) Symbolize the proposition ““‘Only bachelors
are teachers’ with the help of quantifiers.
RNIF IR §RACo “‘Only bachelors are
teachers’” 5001 AOIITF SIRPIRS s |

(k) Give an example of existential proposition.
1 SR oS e i | '

() “In a shorter truth table method a given
argument is assumed to be valid.” Is this
statement correct? o
iy Terel SRS IR T3 I R R
=7 1" YRR O ?

(m) Who first used the word ‘qu_antiﬁcation’?
‘Quantification’ BT CAAVH CFICA ol
FhfRE ?

(n) State the rule of transposition.
Transpositiond fE=e! 1 |

(o) Can a true proposition imply a false
proposition?
a1 oo I B IS TS ot R
AT ?
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2. Give brief answers for the following questions
(any five) : 2x5=10
T SPPTR ee Tee f (R e #fwbr) -

(a) What are the two-fold tasks of symbolic
logic?
HORTE SHEREWAT 7SI I F ¥ 2

(b) Write any two functions of symbois.
2O R @IeAT 701 sy o o,

(c) What, according to Russell, are the -three
parts of symbolic logic?
WER TS HOFwe oFRwmy oo s
&2

(d) What is a propositional variable?
TN 5 1 2

(e) Write two advantages of modern

classification of propositions over traditional
classification.

AT SERBS I YT SR
o1 SR Semy 741 4

(f) Define a singular proposition.
GFF o9 S 7w |

(g) How does a general proposition differ from a
class-membership proposition?
HIYRT o R R 7! 51 oy 44T 9

22
A/1185 ( Continued )



(S)

{h} Which rule of inference is known as chain
reasoning? State the rule.

S Al e pE IS @En wme

fecon forem 1
3. Answer any four of the following : | 5%x4=20
o i (Pl 51R0rA e o -
(a) Distinguish between constant and variable.
51 S SR F9T ML for

(b) Distinguish between propositional logic and
predicate logic.
AT TEREH TP Reeaas SFRer =13
forn |

(c) Write a brief account of the symbolizatipn
process by using the basic logical connectives
in propositional logic. -
TANT SHFRERS (T TN KARREN
oI 1 ABPIT S 5 ARG 91

(d) Use truth table to determine the validity or
invalidity of the following argument :

STerel SR SRFS o R CIol-Hel
foR F90
~(p>49
gor
s ~p>Dq
( Turn Over )
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(6)

{e) Distinguish between universal and existential
quantifier :
T S ST =TT N Refy w41 |

(f) Construct shorter truth tables to determine
the validity of the following arguments : -

o R e RoRe IReT o el
I N5 1 :

(i PpP>g
~q
L ~p
(i) Pog
qgvr
~pOr

(g) Write a short note on modern square of
opposition.

ﬁw«mﬁaﬁmﬁmaﬁw@mml

(h) What is quantification? Symbolize the
following statements by using quantifier -

AT R 2 AR e TR
ORI S 3747 - o

(i) Only graduates are eligible for the post

(ii) Some philosophers

are
mathematicians, ot

(iii) Everything is movable,

22A/1185
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4. Answer any four from the following questions :
10x4=40
wod PR R G BifR6R Tag for -
(a) ‘‘Classical logic is related to symbolic logic as
embryo to adult organism.” Discuss the
statement.

pq oW R R e R, abw
dREn Wiy SRERR a3
AR |77 TEIC! S |

(b) What is truth table? Explain truth table
method as a decision procedure.
sorel ot 57 ffre mfs Rert e
el S I 4|

(c) What do you mecan by truth-function?
What are the basic truth functions? Explain
any two of them. : '
sorel T 67 Gl sTerer ForR 6 R0
R @ o1 I 4

(d) What is a formal proof of validity?
Distinguish between rules of inference and

rules of replacement.

cqqe SRS @md 57 SR e
wefofiae fama o fo

(e) What is simple proposition? Define various
kinds of simple propositions with proper

example.
@ o 7 TIEPR T T Rfeq o=

wge |

.
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(f) What is general proposition? Define various
kinds of general propositions with proper
examples. ‘

MYRT 359 727 Ty SapE ARG W
fRfen e i fran

(g) What is shorter truth table method? What
mechanism is adopted to construct a shorter
truth table method?

oy ool Ol S 50 5y e e
AR IR & (T SR v = 9

(h) What are the strategies for constructing a
formal proof of validity? Construct a formal
proof of validity for the following :

CqeR AMIT TR o0 PR R R0

oo fill PO @oR amfie weR oo
39 : R

FvGo~A
AvW

F.T/ W

(i) Explain the method of symbolization of
traditional A, E, Tand O propositions by using
quantifiers :

AR TS *T[S A, E
» By 1 9% O 355
AR oS I

(i) Explain the four quantification ryles.
R SRS g =

¥k %k
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